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Problem 36.of the papyrus begins: “Go down | times 3, /s of me, '/s of me is of hieroglyphs and its translation is numbered to correspond to a line of the hiera-
added to me;.return |, filled am 1. What is the quantity saying it?” The problem is fic. At the bottorn of the page the phonetic and numerical translation has been
then solved-by the Egypnan method. On these pages is a facsimile of the prob- reversed to read from left to right. Beneath each phonetic expression is its Eng-
lem as it appears in the papyrus. The hieratic script reads from right to left. The lish translation. A dot ‘above a number indicates that it is-a fraction with a
characters are reproduced in gray and black (the original papyrus was written in numerator of one. Two dots above a 3 represent 2/3, the only Egyptian fraction
red and black). In the middle: of the page is a rendenng in hieroglyphic script, with a numerator of more than one. (c:))

which also reads from right to left. Beneath each line of hieroglyphs is a phonetic
translation. The numbers are given in Arabic with the Egyptian notation. Each line

Readers who have the desire 10 trac

e (he entire solutlon are cautioned that the

scribe made several mistakes that are preserved in the various translations.
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3. Problem No. 14 of the Moscow Papyrus®

BATTISCOMBE GUNN
T. ERIC PEET

Problem No. 14
(Transcription, Pl. xxxvi.)

Example of calculating @ truncated pyramid.
If you are told: A trumcated pyramid of 6 for the
vertical height by 4 on the base by 2 o the top:
You are to square this 4; result 16. You are to double
4; result 8. You are to square this 2; resut 4. You are
to add the 16 and the 8 and the 4; result 28. You are to
- take Vs of 63 result 9. You are to take o8 twice; result 56.
See, it is of 56.
Y ou will find (it) right.

9  Squared +

y o2 1 28
9 56
4 1 4
Squsred, 16 2 8 Total 28
NOTES ON THE TEXT COMMENTARY
The text is well preserved and pre- The problem is to determine the vol-4
sents no difficulties. ume of what we call a truncated‘\

Figure. The solid is of course repre- pyramid, or frustum of a pyramid, the]
sented, as in the hieratic ideogram, as @ data being the vertical height (stwti) and
simple trapezoid, and in the original is  the respective lengths of the sides of thed
roughly drawn without regard to the two squares which bound the solia]

proportions, as in the transcription. below and above.

*source: From Henrietta O. Midonick (ed.), The Treasury of Mathematics (1965), 520-52,!:
oanrinted by permission of the Philosophical Library.
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| Origins
1.D Egyptian Mathematics. 1 g 15
\2 16
For a literate civilization extending over some 4000 years, that of the [ 2 4
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1.D1 Two problems from the Rhind papyrus
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